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PART - A
R - @
Note: Answer All questions. Each question carries 1 mark. (40x1=40)
PR, TBINIRY, wZoR. Bé [k 1 wos.

1.  Protected land for conservation of wild life, plant and animal resources and traditional
life of tribals living in that area is known as
A) Sanctuary B) National Park
C) Biosphere reserve D) All of the above
[IeeD, AR, WoW) T8 FOTIY Torte TOT,WICWT LWORBLY, BIT 28I FOTFRON
QOB T,TeTBI), DF0w0 FTOIBTd ?

A)  ©yadnde B) Togecd evom,SEs
C) Wemneed D) 003 2P oS
2. Radioisotope used in production of nuclear weapons in India is R {\%
A)  Uranium B) Plutonium ARk WV ] L
C) Thorium D) Radium W 5
08 e9R, J0IR0F0Y, evBedReNTLT DT ATOW (isotope) Nl
A) coTERoDO B) Fpedeedodo
C) @redodo D) Bedodo
3. The moons of Jupiter are called
A) Satellites B) Simpleton
C) Galilean D) None of the above
roN,BE LI EMATI), DI FTEHLNT 2
A) evIn,ENW0 B) 0TS’
C) RIS D) 0edT cdnFHod e,
4. "Sun is at the center of the Solar System" - Said for the first time.
A) Copemicus B) Galileo
C) Aristotle D) Newton
“RRCDFRD ATROBOT Fe0R,TNTI'" 0T JXT IeTO 3
A) BRTVFTE B) rdddn
C) wdmue’ D) srus
5. Father of Indian Nuclear Programme is
A) J. C. Bose B) Homi. J. Bhabha
C) Vikram Sarabhai D) C. V. Raman
POUSBE HTORRED dReEIoD BT
A) B, deexs B) ®@ee0. 8. 0530
C) QB mToygecL D) A.Q. ooxda*
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6.

10.

11.

The lens used to construct a microscope

A) Convex B) Concave
C) Biconvex D) Biconcave
AT WIFEE SoAR0ER eumodeenton SOTRT cIRFI ?
A)  EeTOIRT B) Q0@oAed
C) Qf e SART D) &, ax)zomes
Birth place of renaissance is
A) ltaly B) America
C) India D) Britain
PIDBEIIT wIS A
A) apd B) e&Soedw
C) wwus D) 285
discovered Human Blood Groups.

A)+ James Watson B) Hexander Fleming
C) Land Steiner D) Einstein
TRIDS TIE MOOPYNTIY FOROLITII
A) B o, 8 B) wdn'somo’ FRoon
C) 0w ot D) =R
Meganitude scale for earthquake is
A) Richter B) Cornell
C) Meitner D) Heisenberg /.-

WRTOTT 363,300, VRWT IR TS,
A) 030 B) ®wsFe*
C) oeyyot D) Eenstwnts
Ganita Saara Sangraha is written by
A) Aryabhata B) Mahavira Acharya
C) Bhaskara D) Nilakantha
R3S X ON,TITY, WITIWD.
A) E:SOESJF'?JE% B) S0To0e0 &5230030F
C) AT D) Qeesod

said there is "electricity in lightening

A) Michael Faraday B) Benjamin Franklin
C). Galileo D) Copericus
100uTQ, WXEE AT DOTD TeYTBI
A) HES T,08 B) Somox 9, 085
C) nRdOdee D) Brezo*dex®
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12. The Iron Age:

A) 4000-3000 BCE B) 3000-1000 BCE

C) 1000 to Present D) None

ﬁagfa odon

A) 4000-3000 BCE B) 3000-1000 BCE

C) 1000 to Present D) ocdngxce oo
13. C. V. Raman won Nobel Prize for

A) Physics B) Chemistry

C) Botony D) Zoology

R.0. TORIFTHI i@@d@?ﬁ JRdS* T ?quJSO TRETTO.

A) ?13’33%?\1; B) UNuO«Dﬁ E‘Dr\t

C) RR, T, D) &, 6397,

14. Soaps are °
A)  Sodium or pottassium salts of fatty acids
B) Contains petroleum products only
C) They contain fatty acids only
D) None
TOLRONED
A) RreRoho L5 TPeETD 20300 NS YT OTEOTIY, BRODT.
B) ednedado wmdﬁrﬁ%ﬁm [N, mo@d
O &r\ua‘ wmaiab am:i araoad
D) ai:a@cim ©e)

15. is regarded as father of Genetics.
A) Gregor Mendel B) Bateson
C) Hugo de beris D) Darwin
SVTAT LT,
A) DodeF B) dews
C) =priee & 3oz D) ' mdfs®
16. Expand DNA
A) Deoxyribo Nucleic acid B) De-ribo necleic acid
C) Deoxy nucleic acid D) None
DNA S Z0R.
A) Rusgdee SR 35 &), B) @—%aﬁmeméggu" SOne)
C) B8Ry o= D) cnlce @

(Booklet - A) [P.T.O.
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17.

18.

19.

20.

The first stage of Industrial revolution

A) Consumable goods production B) Capital goods production
C) Standardization D) Productivity

3ot 59,0800 Srcesed T3

A) ePeeNs IoBNY NSRBI B) 0@m¢ ITRNY LUST
C) B Roeedesses D) ovZss

The first Indian Satellite launched through Indian made launch vehicle in the year
1980 is

A) Aryabhata B) Bhaskara
C) Apple D) Rohini

1980 S SRFSE, PTBTE), ICINTIT LVBTE TTIT FRVB Jplenovfevipiafiaolald
080 YVRIN, B

A) S0DFPY B) AT
C) sz D) deektd

Most likely event which can cause a rise in the average temperature of earth's
atmosphere 1is

A) Forest fires B) CO, from fossil fuels

C) Dust clouds from volcanoes D) Depletion of earth's ozone layer
POFBY, R0 BIOBRSEE), IR0 THTTRT DHOFR BN DT, FRTOT oD
OGS T, ?

A waE,

B) 900098 QOGFINOT VOINIE BOMOURERY,

C) HUIRVDNLOT BHCEAERS BT RN

D) %eaood LRt IE0E XS

High yielding variety - HYV-Seeds were introduced to Indian farmers as a result of

A) White revolution B) Green revolution

C) Red revolution D) Orange revolution

&!"zaga QRO BRWT WERNTIY, fhplerial dd:‘saﬁ TOWCWATT TOPOROIER ?
A) 335,08 B) ®aT0%,08

C) Boms,08 D) 395,08

(Booklet - A)
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21.

22.

23.

24.

25.

Blue revolution being envisaged by the Govt. of India is aimed at

A) Increasing industrial production of blue dyes

B) Augmenting pulse production

C) Enhancing aquaculture products both in brakish and fresh water

D) Increasing fish production in fresh water.

002 XFoF Oy B3 FINT o3 98, QedTD, 080D & eodmezﬁeaﬁaﬁab ARWROZT.
A) D T §Mods emcsame:a*b &w@@m

B) Qzn¢ qsaﬁ ﬁ%’ NTEI ézsnoaéjcfo

C) 2o SR Na:od Eoi'\) eaé@ W08 WEIT g BUFFJPTH

D) A& aet’}sﬁ@ ARV ﬁ & msad;‘\b éz&wam

Non-conventional sources of energy are
A) Nuclear, Bio mass, Wind, Thermal B) Geothermal, Ocean, Solar and Nuclear
C) Biomass, Solar, Wind and Tidal D) None of the above

RO, TOOWT VOFIT WO

A) ToTReW, WBeRTS, W03, ToD BNA §

B) ez, mns, AT &) SO (*{i 11

C) Remo0d, PT, 03D a“né; RIS 0L 0093 cHon s

D) Eﬁ)f@é CBRPTR &), ’_, :_,'_;"'
coined the term Nano-technology
A) Richard Feynman B) Richard Watson
C) Nario Taniguchi D) None of the above
R dee - HRow wow TIIL), SWRTFDH
A) ok fead @Qa‘ B) oums DRI
C) Sweedocde edmeg, D) 0eds cdnde o
The ancient Babylonious found to use the soap around
A) 3800 BC B) 2800 BC
C) 2500 BC D) 2400 BC
39,0365 LRWERLACDYTO RRCTR, WIRT) AOTRD
A) 3800 BC B) 2800 BC
C) 2500 BC D) 2400 BC
Yukti Means.
A)  Skill B) Strength
C) Games : D) None
o303 0T3
A) TIY B) 3%
C) esansd D) on@ce @

(Booklet - A) . [P.T.O.
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26.

27.

28.

29.

is the 3 generation satellite launched by ISRO in Nov. 2019

A) Chandrayaan - II B) INSAT

C) Chandrayaan - | D) Cartosat - 3

SsSowot 2019 88, ISRO oesse SE=ROS DO VTN, BRI, YV
[INRL.

A) Bog,odns -1 B) INSAT

C) omodes -1 D) wuermRF- 3

Genetic improvements in which two crops form the basis of the Green Revolution

A) Corn and Rice B) Wheat and Corn

C) Wheat and Rice D) Wheat and Ragi
TTOCRRROE CINT ATB IR TATO 73,0800 TBOIRNS ?
A) Bofpined K0T OY B) reed 02 SdFed
C) nred VB €3 D) #red =B Toh

Which of the following technological advances are affecting human cognition, emotic
and ethics ?

A) Bus, aeroplane, microwave ovens

B) Boilers, metrotrains, television

C) Interest, cell phones, digital communication devices .

D) Submarines, radars, missiles

3 BPAT 03NS I0F wwaﬂdaaodo TFINT BRISI 05y, WIS =0 ﬁejéﬁzémf ™
Tomod Wedo3T ? =
A) WA, IS, FREL,EEE wd (oven)

B) ook, DR, BRUGRSFT

C) ©030°wo, FTHRe’ =OST B33 TOTINTL
D) HeROIMF I8, @0, &0 83089

The observed increase in the average temperature of the air near earths surface :
occans in recent decades:

A) Environment change B) Global warming

C) Health change D) None

QeSS TBIBNYY, P00 B ARG, BoedsS XTIRO D030 TOTEIE . N
FOUEA.

A) TORT WBTRT B) o133 SoTERS

C) wipem, WBDRNE D) ohREe ©Q
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30.

31.

32.

33.

34.

Who announced the introduction of National Food Security Act ?

A) Pranab Mukharjee B) Manmohan Singh
C) P. Chidambaram D) Arun Jaitely
Codyeedd €30 4,300 FoOWTONY, FREAVTHR cdRTd 2
A) T2 T0DBF B) 03330z A0n¢
C) &. W¥Kowss* D) oo wesd

The term ISP refers to

A) Internal Software Protocal B) International Shareware Pool

C) Internet Service Provider D) Interface Standard Protocal

ISP DT, AewdRdIs ?

A) [OBTST FFEeO' Fpeweeme'  B)  RBTTTIIS SeSerd Fpoot

C) ouo'detsr IOFX* B, e B’ D) wougerz® m O0BBEF Jp,ctinsoct

Origin of species is a work of

A) Mathew Arnold B) Charles Darwin P N
C) Albert Einstein D) Sigmond Freud /<7~
263 MY NRT SeDFD Iy e
A) IRTR SHFT B) wormarst h | /S
C) ©OEFF IR D) arjow w035 \\J_,/

The most energy efficient and environment safe source of light is :

A) CFL B) LCD

C) LED D) LPG

©8,08 TOFIROTO RO ATTIONR), BRODT W8T T,
A) AT .. B) &¢fAa.

C) of.2a.8. D) oo¢f.a.2.

To join the internet, the computer has to be connected to a
A) Internet architecture board B) Internet society
C) Internet service provider D) None

SOTTWO  TOTEFE, TOTFT TROTWO NRFD0ET,HTY B IINS BRI,
BpeRRIeTrO3N?

A) QLT wIrED WeeE'r B) owo'de Aedes
C) 2out’SeE ZoFx* Zp e B0 D) on@me @

(Booklet - A) [P.T.O.
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36.

37.

38.

39.
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Which one of there depletes the ozone layer and causes global warming ?

A) Nitrogen dioxide
C) Ammonia

391t FROAE CIRT BRI Lrioe®

F0L0wONG ?

A) mOENES @ o8 &

C) 8ReA0D

The term polymer is derived from
A) Greek

C) French

‘TORT’ BRI, TRATORYTO

A) Nes®

C) ow

The efficiency of solar cells is about

A) 25%
C) 40%

PosneEnY TESH MINGFRY R

A) 25%
C) 40%

B)
D)

CFCs
All the above

SIFOOIN0L [NR NYE ITRRIT DI

B)
D)

B)
D)
B)
D)
B)
D)

B)
D)

3nedne PREGRE TWF

BT QTP

Latin

English

SO .

WU 5 O
AV IR\

60%

/Ut;'
%
15%

15%
60%

Primitive observers defined natural phenomenon as an activity of

A) Super natural forces
C) Machines

Spediod BOT PIFTY, PRI T3 cdhod Hegcd 83 TysoDNvRY

559, 859, RS .
A) ©T8E 38
C) oDognsd

HTML stands for

A) Hypertext Makeup Limited

C) Hotmail Markup Language
HTML 0%38.

A) Fous  Soess OdouE*

C) TR0 TRTFX (Splelataiv~d

(Booklet - A)

B)
D)

B)
D)

B)
D)

B)
D)

Humans
None of the above
RO

SRTRD
B0eOT CIRJTR B,

Hotmail Markup Limited
Hypertext Markup Language

HFes Sngrs OVUEE*
%ﬁdﬁﬁw BT ooonses’
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40. Who was the father of white revolution ?

A) Dr. Norman Borlaung B)  Dr. M.S.Swaminathan
C) Dr. Varghere Kurein D) K.N.Bahal
WROST $¢T 83,0800 BOTT BRI ?
A) Il IFI* airaeoaﬁorv B) ol Q0.0%F. AR LOTOTI*
C) oIl Iners® B0 D) 3.5 .wzef
PART - B
gon - W
Note : Answer All questions, Each question carries 2 marks. (15%2=30)

DR, BINIR UvZOR. T3 TIN 2 w0,

41. Entomology is the study of

A) Insects ; B) Plants

C) Entamoeba D) None of the above /

POVRROL 5, 0DIFomT : ('l i

A)  deenshd B) A@nsd & y /7
C) Q080D D) ed3 cangymn we -

42. The "Green Revolution” is criticized by some because
A) It created an agricultural surplus
B) It promoted many varieties in food grains
C) It enhanced the dependence on fertilizers and many pesticides
D) None of the above
TATOT, 080D 32 5TDOT E3e8RRIMONGD.
A)  Z& MO GVowd TRE.
B) Iomoth 3,330 TORONTRY, eugensa.
C) oomoodRT RRWonY monn Bzons ue#éaba"xg{ éagdﬁusa.

5]

D) S0ed3 cingzde wo

43. Ancient Indian Knowledge of theories on human body, symptoms of disease and
remedies in ayurveda are made available in which sanskrit text ?
A) Arthashastra B) Charaka Samhita
C) Chandasshastra D) Aryabhatiya
RRID JOeTT T3S, Seenne mme)iseﬁ% ) LY wa%ﬁ SlovobIn Jaimin] gaedwagt
T, WOUST ol so:sﬂa N,05309. FWIRT ?

A) ecﬁf-"z}:;:i B) 30% Zo&3
0) ep’odaa:g D) SloRANeve!

(Booklet - A) , |P.T.O.
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44.

45.

46.

47.

The word "Agriculture" has been derived from

A) German B) Latin
C) American D) Arabic
"Agriculture" 02 TTEI Q0T TBODUINT.
A)  wRFS B) oo
C) e0s* : D) 0e0s*
and are two major discoveries of 15" Century which led

to expansion of white colonies out side Europe.

A) Spinning machine and telescope B) Gunpowder and Steam engine

C) Gunpowder and Mariner's Compass D) Mariner's compass and telescope
B O30BReLTER VPODT [RBIONY DITHA  TOO

BREERW, 153¢ TTRRST TR T,I0D BQTWIND.

A) Seedwm 003, R TROBSFT B) =008 IB ®o! Gptglevelers

C) OIS B o DONTC DB D) 00 D3R @O BRUESF T

Match the scientists and their discoveries:
Scientist -
Alfred Nobel
Edward Jenner
Newton
Thomas Alva Edison
A) a=iii, b=i, c=iv, d=i
C) a=iii, b=iv, c=i, d=ii

Discovery
i.  Vaccination
ii.  Electric bulb
iii. Gravitational force
iv.  Dynamite
a=iv, b=i, c=iii, d=ii
a=ii, b=i, c=iv, d=iii

po TP

NS aga:mv éh’dag{ 9530 es&)madﬁ@ﬁ BRODA.

QLIOINTD SQTWT
a ©ST IR i. 38
b o@EF #30° il 23T o
c. IRW iii. moTOTIEFED I3
d 0T 8O RIS iv. TR
A) a=iii, b=i, c=iv, d=i B) a=iv, b=i, c=iii, d=ii
C) a=iii, b=iv, c=i, d=ii D) a=ii, b=i, c=iv, d=iii
Through Wind Mill motar generator is converted into E
A) Wind energy to electricity B) Wind energy to chemical energy
C) Kinetic energy to electricity D) Wind energy to kinetic energy
QOB W Feeist wWIVEWTI BoROT B3 030 J3 03N
STF NI T.
A) TII ZFow &Jdosza’qgodnh B) RIS 33000 0omooddT Jodnn
C) 3 Jes Bodw adaéw&godnh D) =S 3cdn I Jgodnn

(Booklet - A)
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48. E = MC? is an equation to pr(l)ve

49.

50.

51.

A) Photoelectric effect B)  Radioactivity

C) Brownian motion D) Theory of relativity
E = MC? 200w ) VTRLILD AT ART,.

A) IgB T, T TOT B) O30008c03

C) PRAcHa* 8o D) mﬁei\:& :rbca%oa

Which of the following definition for science has been coined by Carl Sagan ?
A) Science is a way of thinking much more than it is a body of knowledge

B) Is an intellectual activity carried out by humans

C) Science is a knowledge covering general truths of the operation of general laws
D) All of science is uncertain and subject to revision

WOFAMD'T BFoT IS 539,309, 5.

A)  OIPIF ST PomITTOT SR WRRFIONS

B) SnISDH STERB 20T w’a%ﬁ 2383053838

C) momng A, B ToRRT, ACDRONG 50D zﬁdﬁoﬁaﬁ@ﬁﬁmozﬁ 23

) 3
D) NFPTT AUYIP E0FH, T aﬁb%ﬁﬁﬁ u%’mﬁéﬁﬁ%

Expand NDDB

A) National Dairy Development Board B) New Dairy Development Board
C) National Daily Development Board D) None

NDDB oo 2303 ‘

A) T[S 30 duozroow WBeewEs B) JR, B0 BIoRoow Weer's
C) ™:aERer B0 BIozDootr® weew's D) CRJTe ©Y,

Diffence between hybrid and transgenic or GMO plants

A)  Hybrids live longer and transgenics live shorter

B) Hybrids arise due to cross pollination, while transgenics are produced by
transfer of specific genes from different species.

C) Hybrids are generated from grafting but transgenics result from germination

D) Genes in hybrids are under breeders control, but in GMO plants they are
uncontrolled.

S0T,39 DD BE0BOT BYRYATHI AR

A) DTN QEPFEOOTIR, DCROBON SO WEIBTS,

B)  axg3enss ¢r Sourt clonon eussadndls, ep0ss sened 0rR erbmobead
Feand), w3ed w30k AR NPT SYBRY SV DFONG.

C)  aFenvs) SAIRITOR IAROLDS, BTIONRY SRTE0R
BROTRMST.

D) Q033envd) embaeds searsh 33w Rod03,893QT; BeRoIONT), AT T D,

(Booklet - A) [P.T.O.
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52. Importance of information technology in education are
A) Faster access to information from across the globe
B) On-line libraries and dictionaries, make grasping and learning easier
C) It based communication systems such as emails, SMS help interaction for clarity
D) All the above
%wﬁ@ BRkd B03,PIT T,B00IND.
A) Touw amaei Ransreos depr Bnkd Oy, 3.
B) esa“e?z-b‘ R,03ewmes FBY WW¥FNYes &)uo.brw Sep %% =3 sOFAD qué
C) maoa 308, mmqmba‘ DoRTI EINTIE emails, sms aizz‘aaﬁ “a‘é
D) &S aoa;p

53. The prefix 'nano' comes from a

A) Greek word meaning dwarf B) Spanish word meaning prticle
C) Latin word meaning invisible D) French word meaning billion
DO, BRET TPJE B,3,0D Q0T WoRT.

A) new I3 eﬁodd W, B) m % =0 e50WT BED

C) eaasa‘ TR ©omT ereesd D) Fouw* =TT 2088 WO

54. Expand GSLV
A) Geocircular Satellite Launch Vehicle
B) Geoelliptical Satellite Launch Vehicle
C) Geosynchronous Satellite Launch Vehicle
D) Geoorbital Satellite Launch Vehicle
GSLV «0%8
A) PrReYE TNE SVEIRE OB
B) z3cdre aewﬁ@ QVTM,T LYVBEORETD OB
C) wodreacdn, 3 emwrﬂa BN DD
D) zﬁod:aewr&se:f emwﬁa VTR OB

55. Scientific Studies of nature in necessary in society for
A) Simple curiosity and improve peoples lives
B) Economic development and enlightenment
C) Increasing control over our planet and its environment
D) All the above
RBRETEY, T7,8oD LT OF, oDINY @B FE TR
A) ﬁamaejmod mm w0 homb.oe:o
B) ©Qf? o0 TOMR ma’wemfﬁ
C) e ﬁo@n e a‘a@romcﬂwd Boedd o030 TRROFT
D) R0ed aeg;wﬁa
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